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. COMMON CORE ALGEBRA I
PART I QUESTIONS: Answer all questions in this part. Show all of your work.
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3. The distance, d, that a car has traveled, as a function of time, ¢, is given in the table below. What is the average
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5. For the function defined by f(x)= 33’;"_" ij g_' which of the following represents the value of f (6) 7
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6. For function g(x) graphed below, over which of the following intervals is g(x) c(g_asa‘/?

I r
]
L‘ =T " from left to F‘D‘d’
| g . ST, the graph shaxld
? = i
("l) '2) ('{/3) 30 LLE
o XYy l : _
7. Given the graph of the function f(x) shown below, which of the following intervals represents its domara
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8. A function is initially defined by the set of coordinate pairs { (-2,¢),(-5,4).(3, —3)} Which coordinate pair

below, if added to this set, prevents the set from representing a function?
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9. If the function /(x) is defined by h(x) =3x then which of the following values of X selves the
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PART II QUESTIONS: Answer all questions in this part. Show all of your work. Al tbra:

10. The function f (x) is shown on the graph. What point does f(-l) represent"c mjathls point on the graph.
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12-13. Do the following graphs represents functions? Explain how you arrived at your choice.
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PART ITI QUESTIONS: Answer all questions in this part. Show all of your work.

14. Two functions, f(x) and g(x), are given below. Determine which of these functions has the greater average
rate of change over the interval | € X € 3

The‘veragerateow
frverage rate of chang /\xo:asqsé

&140 C o lg(x)| ot @l 4| 8]k |34 68|

X
o +?2“ =
e £ e e




L

ﬁ ,je br a d nt 'IL 3
15. Graph the piecewise function shown below on the \ y

axes provided. Which point below is on the graph?
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16. What is the va uesof f (<3)for this piecewise function? /
Circle this point on your graph. \
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PART IV QUESTION: Answer the question in this part. Show all of your work.

17. For the function f(x) shown graphed below answer the followmg questions.
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19. Give the intervals over which f(x) is chuﬂ}J and, |- /
circle the decfeasi ?} sections on the graph.
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